

Other Services (Excluding Public)

Public Administration

Civilian Labor Force Profile

2061 Mulberry Road, Concord, North Carolina, 28025 Ring: 1 mile radius Prepared by Esri

Latitude: 35.33344 Longitude: -80.61146

2023 Labor Force							
				Unemployment	Labor Force	Employment-	
Age Group	Population	Employed	Unemployed	Rate	Participation Rate	Population Ratio	
16+	1,081	778	18	2.3%	73.6%	72.0%	
16-24	140	96	4	4.0%	71.4%	68.6%	
25-54	606	523	7	1.3%	87.5%	86.3%	
55-64	163	118	7	5.6%	76.7%	72.4%	
65+	174	41	0	0.0%	23.6%	23.6%	
Male Age 16+	525	419	6	1.4%	81.0%	79.8%	
Female Age 16+	555	359	12	3.2%	66.8%	64.7%	
Economic Depende	ency Ratio						
Total						82.3	
Child (<16)						43.7	
Working-Age (16-6	64)					21.5	
Senior (65+)						17.1	
Industry		Employ	ed	Percent	US Percent	Location Quotient	
Total		7	78	100.0%	100.0%	-	
Agriculture/Forest			0	0.0%	1.1%	0.00	
Mining/Quarrying/	Oil & Gas		2	0.3%	0.4%	0.75	
Construction			33	4.2%	7.0%	0.60	
Manufacturing			40	5.1%	10.0%	0.51	
Wholesale Trade			11	1.4%	1.9%	0.74	
Retail Trade			82	10.5%	10.4%	1.01	
Transportation/Wa	rehousing		34	4.4%	5.5%	0.80	
Utilities			26	3.3%	0.8%	4.12	
Information			37	4.8%	1.9%	2.53	
Finance/Insurance			90	11.6%	5.0%	2.32	
Real Estate/Rental			9	1.2%	1.8%	0.67	
Professional/Scien	•		85	10.9%	8.6%	1.27	
Management of Co	•		0	0.0%	0.1%	0.00	
Admin/Support/Wa	-		38	4.9%	4.4%	1.11	
Educational Servic			86	11.1%	9.2%	1.21	
Health Care/Social		1	.06	13.6%	13.6%	1.00	
Arts/Entertainmen			15	1.9%	2.2%	0.86	
Accommodation/Fo	ood Services		33	4.2%	6.7%	0.63	

16

36

2.1%

4.6%

4.7%

4.8%

Data Note: Location Quotients compare the industry/occupation share of a local area's employment relative to that same share nationally. A value lower/greater than 1 indicates that the local area is less/more specialized in that industry or occupation category than the US as a whole. **Explore the Esri Labor Force Learn Lesson for more information on how to use and interpret the estimates in this report. Source:** Esri forecasts for 2023 and 2028.

0.45

0.98



2061 Mulberry Road, Concord, North Carolina, 28025 Ring: 1 mile radius Prepared by Esri

Latitude: 35.33344 Longitude: -80.61146

Occupation	Employed	Percent	US Percent	Location Quotient
Total	778	100.0%	100.0%	-
White Collar	590	75.8%	62.3%	1.22
Management	101	13.0%	12.0%	1.08
Business/Financial	103	13.2%	5.9%	2.24
Computer/Mathematical	58	7.5%	4.0%	1.88
Architecture/Engineering	16	2.1%	2.4%	0.88
Life/Physical/Social Sciences	10	1.3%	1.3%	1.00
Community/Social Service	26	3.3%	1.9%	1.74
Legal	4	0.5%	1.2%	0.42
Education/Training/Library	38	4.9%	6.2%	0.79
Arts/Design/Entertainment	15	1.9%	2.2%	0.86
Healthcare Practitioner	76	9.8%	6.2%	1.58
Sales and Sales Related	73	9.4%	8.6%	1.09
Office/Administrative Support	70	9.0%	10.4%	0.87
Blue Collar	127	16.3%	21.5%	0.75
Farming/Fishing/Forestry	0	0.0%	0.5%	0.00
Construction/Extraction	25	3.2%	5.0%	0.64
Installation/Maintenance/Repair	26	3.3%	2.9%	1.14
Production	22	2.8%	5.4%	0.52
Transportation/Material Moving	54	6.9%	7.8%	0.88
Services	59	7.6%	16.2%	0.47
Healthcare Support	14	1.8%	3.1%	0.58
Protective Service	14	1.8%	2.1%	0.86
Food Preparation/Serving	18	2.3%	5.2%	0.44
Building Maintenance	6	0.8%	3.3%	0.24
Personal Care/Service	7	0.9%	2.5%	0.36



2061 Mulberry Road, Concord, North Carolina, 28025 Ring: 3 mile radius Prepared by Esri

Latitude: 35.33344 Longitude: -80.61146

2023 Labor Force							
				Unemployment	Labor Force	Employment-	
Age Group	Population	Employed	Unemployed	Rate	Participation Rate	Population Ratio	
16+	28,176	18,620	569	3.0%	68.1%	66.1%	
16-24	3,830	2,265	175	7.2%	63.7%	59.1%	
25-54	15,329	12,840	255	1.9%	85.4%	83.8%	
55-64	4,270	2,750	83	2.9%	66.3%	64.4%	
65+	4,748	766	57	6.9%	17.3%	16.1%	
Male Age 16+	13,734	10,098	312	3.0%	75.8%	73.5%	
Female Age 16+	14,442	8,521	257	2.9%	60.8%	59.0%	
Economic Depender	ncy Ratio						
Total						95.0	
Child (<16)						43.8	
Working-Age (16-6	64)					29.8	
Senior (65+)						21.4	
Industry		Employ	ed	Percent	US Percent	Location Quotient	
Total		18,6	20	100.0%	100.0%	-	
Agriculture/Forestry	y/Fishing		39	0.2%	1.1%	0.18	
Mining/Quarrying/C	Dil & Gas		21	0.1%	0.4%	0.25	
Construction		1,0		5.8%	7.0%	0.83	
Manufacturing		1,3	20	7.1%	10.0%	0.71	
Wholesale Trade		3	17	1.7%	1.9%	0.89	
Retail Trade		1,9	86	10.7%	10.4%	1.03	
Transportation/War	rehousing	7	74	4.2%	5.5%	0.76	
Utilities			58	1.4%	0.8%	1.75	
Information			04	2.7%	1.9%	1.42	
Finance/Insurance		1,9		10.3%	5.0%	2.06	
Real Estate/Rental/	'Leasing	2	48	1.3%	1.8%	0.72	
Professional/Scient	ific/Tech	1,6		8.8%	8.6%	1.02	
Management of Co			15	0.1%	0.1%	1.00	
Admin/Support/Wa	5		52	4.0%	4.4%	0.91	
Educational Service		2,2		12.1%	9.2%	1.32	
Health Care/Social	Assistance	2,1		11.7%	13.6%	0.86	
Arts/Entertainment	/Recreation	4	62	2.5%	2.2%	1.14	
Accommodation/Fo		1,1		6.1%	6.7%	0.91	
Other Services (Exc	J ,		90	4.8%	4.7%	1.02	
Public Administration	on	8	21	4.4%	4.8%	0.94	



2061 Mulberry Road, Concord, North Carolina, 28025 Ring: 3 mile radius Prepared by Esri

Latitude: 35.33344 Longitude: -80.61146

Occupation	Employed	Percent	US Percent	Location Quotient
Total	18,620	100.0%	100.0%	-
White Collar	12,925	69.4%	62.3%	1.12
Management	2,410	12.9%	12.0%	1.07
Business/Financial	1,613	8.7%	5.9%	1.47
Computer/Mathematical	1,147	6.2%	4.0%	1.55
Architecture/Engineering	574	3.1%	2.4%	1.29
Life/Physical/Social Sciences	334	1.8%	1.3%	1.38
Community/Social Service	421	2.3%	1.9%	1.21
Legal	80	0.4%	1.2%	0.33
Education/Training/Library	1,345	7.2%	6.2%	1.16
Arts/Design/Entertainment	423	2.3%	2.2%	1.05
Healthcare Practitioner	1,325	7.1%	6.2%	1.15
Sales and Sales Related	1,770	9.5%	8.6%	1.10
Office/Administrative Support	1,483	8.0%	10.4%	0.77
Blue Collar	3,560	19.1%	21.5%	0.89
Farming/Fishing/Forestry	12	0.1%	0.5%	0.20
Construction/Extraction	721	3.9%	5.0%	0.78
Installation/Maintenance/Repair	657	3.5%	2.9%	1.21
Production	997	5.4%	5.4%	1.00
Transportation/Material Moving	1,173	6.3%	7.8%	0.81
Services	2,135	11.5%	16.2%	0.72
Healthcare Support	260	1.4%	3.1%	0.45
Protective Service	409	2.2%	2.1%	1.05
Food Preparation/Serving	606	3.3%	5.2%	0.63
Building Maintenance	440	2.4%	3.3%	0.73
Personal Care/Service	420	2.3%	2.5%	0.92



2061 Mulberry Road, Concord, North Carolina, 28025 Ring: 5 mile radius Prepared by Esri

Latitude: 35.33344 Longitude: -80.61146

2023 Labor Force							
				Unemployment	Labor Force	Employment-	
Age Group	Population	Employed	Unemployed	Rate	Participation Rate	Population Ratio	
16+	67,367	44,879	1,726	3.7%	69.2%	66.6%	
16-24	9,244	5,495	439	7.4%	64.2%	59.4%	
25-54	36,626	30,650	969	3.1%	86.3%	83.7%	
55-64	9,988	6,608	218	3.2%	68.3%	66.2%	
65+	11,508	2,127	100	4.5%	19.4%	18.5%	
Male Age 16+	32,697	24,375	972	3.8%	77.5%	74.5%	
Female Age 16+	34,671	20,504	754	3.5%	61.3%	59.1%	
Economic Depender	ncy Ratio						
Total						93.5	
Child (<16)						43.8	
Working-Age (16-6-	4)					28.9	
Senior (65+)						20.9	
Industry		Employ	ed	Percent	US Percent	Location Quotient	
Total		44,8	79	100.0%	100.0%	-	
Agriculture/Forestry	y/Fishing	1	64	0.4%	1.1%	0.36	
Mining/Quarrying/C	Dil & Gas		28	0.1%	0.4%	0.25	
Construction		3,4	52	7.7%	7.0%	1.10	
Manufacturing		3,3	40	7.4%	10.0%	0.74	
Wholesale Trade		1,1		2.5%	1.9%	1.32	
Retail Trade		4,9		11.0%	10.4%	1.06	
Transportation/War	ehousing	2,3	27	5.2%	5.5%	0.95	
Utilities		4	01	0.9%	0.8%	1.12	
Information		8	64	1.9%	1.9%	1.00	
Finance/Insurance		4,7	17	10.5%	5.0%	2.10	
Real Estate/Rental/	Leasing	5	45	1.2%	1.8%	0.67	
Professional/Scienti	ific/Tech	3,1	73	7.1%	8.6%	0.83	
Management of Cor	•		28	0.1%	0.1%	1.00	
Admin/Support/Wa	ste Management	1,9		4.3%	4.4%	0.98	
Educational Service	S	4,5	59	10.2%	9.2%	1.11	
Health Care/Social	Assistance	5,7		12.8%	13.6%	0.94	
Arts/Entertainment	/Recreation	7	00	1.6%	2.2%	0.73	
Accommodation/Fo	od Services	2,9	56	6.6%	6.7%	0.99	
Other Services (Exc	cluding Public)	2,1	56	4.8%	4.7%	1.02	
Public Administration	on	1,7	39	3.9%	4.8%	0.83	



2061 Mulberry Road, Concord, North Carolina, 28025 Ring: 5 mile radius Prepared by Esri

Latitude: 35.33344 Longitude: -80.61146

Occupation	Employed	Percent	US Percent	Location Quotient
Total	44,879	100.0%	100.0%	-
White Collar	29,286	65.3%	62.3%	1.05
Management	5,528	12.3%	12.0%	1.02
Business/Financial	3,237	7.2%	5.9%	1.22
Computer/Mathematical	2,459	5.5%	4.0%	1.38
Architecture/Engineering	1,082	2.4%	2.4%	1.00
Life/Physical/Social Sciences	534	1.2%	1.3%	0.92
Community/Social Service	947	2.1%	1.9%	1.11
Legal	193	0.4%	1.2%	0.33
Education/Training/Library	2,678	6.0%	6.2%	0.97
Arts/Design/Entertainment	920	2.0%	2.2%	0.91
Healthcare Practitioner	3,012	6.7%	6.2%	1.08
Sales and Sales Related	4,257	9.5%	8.6%	1.10
Office/Administrative Support	4,439	9.9%	10.4%	0.95
Blue Collar	9,834	21.9%	21.5%	1.02
Farming/Fishing/Forestry	119	0.3%	0.5%	0.60
Construction/Extraction	2,177	4.9%	5.0%	0.98
Installation/Maintenance/Repair	1,501	3.3%	2.9%	1.14
Production	2,392	5.3%	5.4%	0.98
Transportation/Material Moving	3,645	8.1%	7.8%	1.04
Services	5,758	12.8%	16.2%	0.78
Healthcare Support	665	1.5%	3.1%	0.48
Protective Service	1,049	2.3%	2.1%	1.10
Food Preparation/Serving	1,768	3.9%	5.2%	0.75
Building Maintenance	1,276	2.8%	3.3%	0.85
Personal Care/Service	1,000	2.2%	2.5%	0.88